ECONSTOR Make Your Publications Visible.

A Service of

ZBW

Leibniz-Informationszentrum Wirtschaft Leibniz Information Centre for Economics

Singh, Bindeshwar; Agrawal, Garima

Article

Enhancement of voltage profile by incorporation of SVC in power system networks by using optimal load flow method in MATLAB/Simulink environments

Energy Reports

Provided in Cooperation with:

Elsevier

Suggested Citation: Singh, Bindeshwar; Agrawal, Garima (2018) : Enhancement of voltage profile by incorporation of SVC in power system networks by using optimal load flow method in MATLAB/ Simulink environments, Energy Reports, ISSN 2352-4847, Elsevier, Amsterdam, Vol. 4, pp. 418-434, https://doi.org/10.1016/j.egyr.2018.07.004

This Version is available at: https://hdl.handle.net/10419/243528

Standard-Nutzungsbedingungen:

Die Dokumente auf EconStor dürfen zu eigenen wissenschaftlichen Zwecken und zum Privatgebrauch gespeichert und kopiert werden.

Sie dürfen die Dokumente nicht für öffentliche oder kommerzielle Zwecke vervielfältigen, öffentlich ausstellen, öffentlich zugänglich machen, vertreiben oder anderweitig nutzen.

Sofern die Verfasser die Dokumente unter Open-Content-Lizenzen (insbesondere CC-Lizenzen) zur Verfügung gestellt haben sollten, gelten abweichend von diesen Nutzungsbedingungen die in der dort genannten Lizenz gewährten Nutzungsrechte.

Terms of use:

Documents in EconStor may be saved and copied for your personal and scholarly purposes.

You are not to copy documents for public or commercial purposes, to exhibit the documents publicly, to make them publicly available on the internet, or to distribute or otherwise use the documents in public.

If the documents have been made available under an Open Content Licence (especially Creative Commons Licences), you may exercise further usage rights as specified in the indicated licence.



ND https://creativecommons.org/licenses/by-nc-nd/4.0/



WWW.ECONSTOR.EU

Contents lists available at ScienceDirect

Energy Reports

journal homepage: www.elsevier.com/locate/egyr

Research paper

Enhancement of voltage profile by incorporation of SVC in power system networks by using optimal load flow method in MATLAB/Simulink environments

Bindeshwar Singh*, Garima Agrawal

Kamla Nehru Institute of Technology (KNIT), Sultanpur, Uttar Pradesh, India

ARTICLE INFO

Article history: Received 22 January 2018 Received in revised form 5 July 2018 Accepted 12 July 2018 Available online 26 July 2018

Keywords: Flexible Alternating Current Transmission Systems (FACTS) Static Var Compensator (SVC) Distribution systems

Newton-Raphson Load Flow (NRLF) Distributed generation (DG)

power support at the load centers locally and hence keep the voltages within their safe operating limits. Due to high costs of FACTS devices, their proper location in the system must be ascertained. The fundamental object of this thesis work is to improve the voltage profile by reducing the real and reactive power loss in the system. The voltage profile in the system is being improved by using the FACTS device Static VAR Compensator (SVC). In this paper, studies and analyzes SVC technology for voltage enhancement, reducing system losses, suppression of fluctuations. The effectiveness of the proposed method has been tested on IEEE-9 and IEEE-30 bus systems. Optimal placement has been obtained for the base case loading and to verify its locations. To achieves the optimization of the location and the size of the power system to optimize the system performance. A Newton-Raphson Load Flow problem has been formulated with an objective to improve the voltage profile with minimization of the losses. Moreover, the effects of SVC on economic condition have also been investigated. The results obtaining is in the form of the plot and compared with the plots without SVC. This work also helpful for whose persons are working in the field of FACTS controllers planning.

(http://creativecommons.org/licenses/by-nc-nd/4.0/).

1. Introduction

Modern power systems are becoming more vulnerable to operating limit violation and voltage instability problems due to large transmission networks, deregulation of the electricity industry and utilization of various renewable energy sources as well as different load patterns. As power systems have evolved through continuing growth in interconnections, use of new technologies and controls, and the increased operation in highly stressed conditions, different forms of system instability have emerged. For example, voltage stability, frequency stability and interred oscillations have become greater concerns than in the past. This has created a need to review the definition and classification of power system stability. Now a day's many methods are used to generate and to control the reactive power without the use of the capacitors and the reactor banks like Gate Turn-off thyristors. Other well advance technologies, Flexible Alternating Current Transmission System (FACTS) (Mithulananthan et al., 2003; Ou and Singh, 2002; Gerbex et al., 2001; Huang and Yan, 2002; Dixon et al., 2005; Singh et al., 2006; Mahdad

* Corresponding author.

E-mail addresses: bindeshwar.singh2025@gmail.com (B. Singh), garimagrawal15@gmail.com (G. Agrawal).

https://doi.org/10.1016/j.egyr.2018.07.004

et al., 2006; Mondal et al., 2012; Mark Ndubuka, 0000; Minguez et al., 2007; Jannati et al., 2008; Musunuri and Dehnavi, 2010; Kamarposhti and Alinezhad, 2009; Singh et al., 2011; Acha and Kazemtabrizi, 2013; Palukuru and Nee Dey, 2014; Gabbar and Abdelsalam, 2014; Singh et al., 2015; Athamneh and Lee, 2006; Ghorbani et al., 2012; Hingorani and Gyugyi, 2000; Dixon et al., 2005; Khanmohammadi et al., 2007; Venkateswara Rao et al., 2009; Srivastava, 2012; Grudinin and Roytelman, 1997; Taylor et al., 2005; Stahlkopf and Wilhelm, 1997; Grünbaum et al., 2003; Kundur, 1994; Taylor, 1994) have been discovered that are used in the transmission system to improve the power quality and to compensate the reactive power (Stahlkopf and Wilhelm, 1997; Grünbaum et al., 2003). FACTS have different devices for the above mentioned functions like Static VAR Compensators (SVC), United Power Flow Compensators (UPFC) and the Static Synchronous Compensator (STATCOM) (Kundur, 1994; Taylor, 1994).

1.1. Literature review

Mithulananthan et al. (2003), discussed and compares different control techniques for damping undesirable inter area oscillation in power systems by means of power system stabilizers (PSS), static VAR compensators (SVCs), and shunt static synchronous

2352-4847/© 2018 Published by Elsevier Ltd. This is an open access article under the CC BY-NC-ND license (http://creativecommons.org/licenses/by-nc-nd/4.0/).

ABSTRACT Flexible AC Transmission Systems (FACTS) controllers could be a suitable alternative to provide reactive

© 2018 Published by Elsevier Ltd. This is an open access article under the CC BY-NC-ND license







Abbreviations

/ lobi evia	
AVR	Automatic Voltage Regulator
FACTS	Flexible Alternating Current Transmission Sys-
TCC	
ISC	Invristor Switched Capacitor
OEL	Over Excitation Limiter
DGs	Distributed generations
OPF	Optimal Power Flow
GA	Genetic algorithms
SVC	Static Var Compensator
LFA	Load flow analysis
TCR	Thyristor Controlled Reactor
VP	Residential load models
TCSC	Thyristor Controlled Series Capacitor
NRLF	Newton-Raphson Load Flow
STATCON	1 Static-synchronous compensator
Symbols	
SVC	Static Var Compensator (p.u.)
α	Real power exponent
β	Reactive power exponent
P_{m_bus}	Real power of static load (p.u.)
P_L	Real power loss of the system (p.u.)
AP, RP	Real and reactive power supported to the system
Qintake sys	Reactive power intake of system (p.u.)
AP _{SVC} , RP	svc Real power and reactive power delivered to
5767	the system by SVC
f	Supply frequency (50 Hz)
OPF	Operating power factor
$Q_{m bus}$	Reactive power of static load (p.u.)
FACTS	Flexible Alternating Current Transmission Sys-
	tems
P,Q	Real power and reactive power supported to the
6	system
S _{int ake_sys}	Apparent power intake of system (p.u.)

compensators (STATCOMs). Ou and Singh (2002), discussed the Total transfer capability (TTC), which is usually limited by overloaded circuits and buses with relatively low voltage. Flexible AC transmission system (FACTS) technology can redistribute load flow and regulate bus voltage, so it is a promising method to improve TTC. Gerbex et al. (2001), presented a genetic algorithm to seek the optimal location of multi-type FACTS devices in a power system. The optimizations are performed on three parameters: the location of the devices, their types and their values. The system load ability is applied as a measure of power system performance. Four different kinds of FACTS controllers are used and modeled for steadystate studies: TCSC, TCPST, TCVR and SVC. Simulations are done on a 118-bus power system for several numbers of devices. Results show the difference of efficiency of the devices used in this context. Huang and Yan (2002), investigated the effect of thyristor controlled series capacitor (TCSC) and static VAR compensator (SVC) on power system load curtailments. An algorithm of optimal power flow (OPF) to reduce the load curtailment for installing TCSC/SVC in the system is proposed in this paper. Dixon et al. (2005), presented an overview of the state of the art in reactive power compensation technologies. The principles of operation, design characteristics and application examples of VAR compensators implemented with thyristors and self-commutated converters are presented. Static VAR generators are used to improve voltage regulation, stability, and power factor in ac transmission and distribution systems. Singh et al. (2006), presented the continuous change in power

demand and supply altered the power flow patterns in transmission networks in such a way that some of the corridors are lightly loaded and some of the corridors get over loaded. To cope with these problems, flexible AC transmission systems (FACTS) are used. This paper suggests a new sensitivity based approach to locate thyristor controlled series compensator (TCSC) and unified power flow controller (UPFC) for enhancing the power system load ability. The effectiveness of the proposed method is tested and illustrated on 5-bus and IEEE 14-bus systems. Mahdad et al. (2006), focused on the first two of these requirements choosing the type of FACTS devices, deciding the installation location and control of FACTS. We presented a simple algorithm based in heuristic and practical rules to seek the optimal location of two types of FACTS, shunt compensation 'SVC' and series compensation 'TCSC'. The system load ability and loss minimization are applied as a measure of power system performance. Results show the impact of optimal operating points of FACTS (SVC and TCSC) devices under various conditions of power system. Mondal et al. (2012), investigated the optimal location and setting parameters of SVC (Static VAR Compensator) and TCSC (Thyristor Controlled Series Compensator) controllers using PSO (Particle Swarm Optimization) to mitigate small signal oscillations in a multi machine power system. Installations of FACTS devices have been suggested in this paper to achieve appreciable damping of system oscillations. However the performance of FACTS devices highly depends upon its parameters and suitable location in the power network. In this paper the PSO based technique is used to investigate this problem in order to improve the small signal stability, Mark Ndubuka (0000), investigated the effects of Static VAR Compensator (SVC) on voltage stability of a power system. The functional structure for SVC built with a Thyristor Controlled Reactor (TCR) and its model are described. The model is based on representing the controller as Variable impedance that changes with the firing angle of the TCR. Minguez et al. (2007), addressed the optimal placement of static VAR compensators (SVCs) in a transmission network in such a manner that its loading margin is maximized. A multi scenario framework that includes contingencies is considered. This problem is formulated as a nonlinear programming problem that includes binary decisions, i.e., variables to decide the actual placement of the SVCs. Jannati et al. (2008), analyzed instability is one of the phenomena which have result in a major blackout. To maintain security of such systems, it is desirable to plan suitable measures to improve power system security and increase voltage stability margins. FACTS devices can regulate the active and reactive power control as well as adaptive to voltage-magnitude control simultaneously because of their flexibility and fast control characteristics. This paper presents a Genetic Algorithm (GA) based allocation algorithm tested on IEEE 30 bus for FACTS devices considering Cost function of FACTS devices and power system losses. Musunuri and Dehnavi (2010), presented a comparison of four Flexible AC Transmission Systems (FACTS) controllers, the Static VAR Compensator (SVC), the Static synchronous Compensator (STATCOM), the Thyristor Controlled Series Compensator (TCSC) and the Static Synchronous Series Compensator (SSSC) on power system steady state voltage stability. Kamarposhti and Alinezhad (2009), presented that the growing concerns over environmental impacts, conditions for improvement of the whole distribution network, and rebate programs offered by governments have contributed to an increment in the number of DG units in commercial and domestic electrical power output. This paper introduces a sensitivity analysis to determine the optimal sitting and sizing of DG units. A new methodology PSO for the placement of DG in the radial distribution systems reduced the active power losses and to improve the voltage profile. The effectiveness of the proposed method is demonstrated through IEEE 16 bus standard test systems. Singh et al. (2011), presented the introduction of Various FACTS controllers such as SVC, TCSC, TCPAR

or TCPAT, SSSC, STATCOM, UPFC, IPFC, GUPFC, HPFC for operation. control, planning & protection from different performance point of view such as increased the load ability, improve the voltage profile, minimize the active power losses, increased the available transfer capacity, enhance the transient and steady-state stability, and flexible operations of power systems. Acha and Kazemtabrizi (2013), presented a new model of the STATCOM aimed at power flow solutions using the Newton-Raphson method. The STATCOM is made up of the series connection of a voltage-source converter (VSC) and its connecting transformer. The VSC is represented in this paper by a complex tap-changing transformer whose primarv and secondary windings correspond, notionally speaking, to the VSC's ac and dc buses, respectively. Palukuru and Nee Dey (2014), analyzed instability is considered as a main threat to stability, security, and reliability in the modern power systems. This paper presents a novel method to assess voltage stability status using a unique two-bus π -network equivalent derived with OPF solution of the actual system at different operating conditions. This paper considers an SVC and a TCSC in OPF formulation to assess voltage stable states of any interconnected power system in terms of its reduced two-bus integrated π -equivalent system. Gabbar and Abdelsalam (2014), discussed a high performance dynamic model of a micro-grid system comprising a wind turbine, a PV, a fuel cell, a micro gas turbine generator, an energy storage, electric loads with Variable load profile and flexible AC transmission system (FACTS) devices. The FACTS devices based on static VAR compensators have been employed as a supervisory controller. Singh et al. (2015), presented a comprehensive survey on application of Various conventional, optimization and artificial intelligence (AI) based computational techniques for impact assessment of optimally placed and coordinated control of distributed generations (DGs) and flexible AC transmission systems (FACTS) controllers in power systems (PSs). Athamneh and Lee (2006), studied the impact of FACTS on the performance of Jordanian transmission system under different levels of power exchange with Egyptian and Syrian power systems. This helps to determine the appropriate types and locations for FACTS devices to be installed to improve these limits. Ghorbani et al. (2012), investigated the impact of Static VAR Compensator (SVC) on the apparent impedance seen by the transmission line distance relay. It is shown that the connection type of the windings of the shunt coupling transformer of the SVC has a remarkable effect on the apparent impedance seen by the distance relay.

1.2. Contribution of paper

In this paper, FACTS controller such as SVC is incorporated in the power system network for the improvement of voltage profile and minimization of system loss and cost of the system by using NRLF method. The graphical comparisons of results are also presented in this paper. The effectiveness of the proposed method has been tested on IEEE-9 and IEEE-30 bus systems.

1.3. Organization of paper

The organization of paper are as follows: Section 1 discusses the introduction of power system stability. Section 2 describes the mathematical problem formulation, introduction of various FACTS controller, basic structure and components of SVC, mathematical model of SVC. Section 3 discusses the simulation results deals with the voltage profile of IEEE-9 bus test system and IEEE-30 bus test system with and without SVC using Newton–Raphson load flow method technique.



Fig. 2.1. V-I characteristic of SVC.

2. Mathematical problem formulation

The objective function of the optimal placement of SVC includes improvement in voltage profile, reduction of the total real and reactive power loss of the system and overall cost of the system. The most common constraints are considered in this analysis such as power flow equality constraints, bus voltage or voltage drop limits and transmission line overloading capacity for the optimal placement SVC in power systems.

2.1. Different types of FACTS controller

In general FACTS controllers can be divided into four categories:

- (a) *Series controllers:* Static Synchronous Series Compensator (SSSC) and Thyristor Controlled Series Capacitor (TCSC) are examples of series FACTS controllers.
- (b) *Shunt controllers:* Static VAR Compensator (SVC) and Synchronous Compensator (STATCOM) are examples of shunt FACTS controllers.
- (c) Combined series-series controllers: Interline power flow controller (IPFC), Thyristor-Controlled Voltage Limiter (TCVL) and Thyristor-Controlled Voltage Regulator (TCVR) are examples of series-series FACTS controllers.
- (d) *Combined shunt-series controllers:* Thyristor Controlled Phase Shifting Transformer (TCPST) and Unified Power Flow Controller (UPFC) are examples of shunt-series FACTS controllers.

2.2. V–I characteristics of SVC

The SVC can be operated in two different modes: voltage regulating mode and VAR control mode. When the SVC is operated in voltage regulation mode, it implements following V–I characteristic shown in Fig. 2.1.

2.3. Mathematical modeling of SVC

The SVC firing angle model is implemented in this paper. Thus, the model can be developed with respect to a sinusoidal voltage, differential and algebraic equations are as follows:

$$I_{SVC} = -jB_{SVC}V_k$$

The fundamental frequency TCR equivalent reactance X_{TCR} is given by:

$$X_{TCR} = \frac{\Pi XL}{\sigma - \sin\sigma}$$

where $\sigma = 2(\Pi - \alpha), X_{L} = \omega L$

Table 3.1 Parameter for 9 buses test system

. arannete		es cese s	ocern									
Bus_i	Туре	Pd	Qd	Gs	Bs	Area	Vm	Va	Base kV	Zone	V _{max}	V _{min}
1	3	0	0	0	0	1	1	0	345	1	1.1	0.9
2	2	0	0	0	0	1	1	0	345	1	1.1	0.9
3	2	0	0	0	0	1	1	0	345	1	1.1	0.9
4	1	0	0	0	0	1	1	0	345	1	1.1	0.9
5	1	90	30	0	0	1	1	0	345	1	1.1	0.9
6	1	0	0	0	0	1	1	0	345	1	1.1	0.9
7	1	100	35	0	0	1	1	0	345	1	1.1	0.9
8	1	0	0	0	0	1	1	0	345	1	1.1	0.9
9	1	125	50	0	0	1	1	0	345	1	1.1	0.9



Fig. 2.2. SVC equivalent susceptance profile.

And in terms of firing angle,

$$X_{TCR} = \frac{\Pi XL}{[2(\Pi - \alpha) + \sin 2\alpha]}$$

where σ and α is conduction and firing angle respectively.

At $\alpha = 90^{\circ}$, TCR conducts fully and the equivalent reactance X_{TCR} becomes X_L while at $\alpha = 180^{\circ}$, TCR is blocked and its equivalent reactance becomes infinite. The SVC effective reactance X_{SVC} is determined by the parallel combination of X_C and X_{TCR}.

$$X_{SVC} = \frac{\Pi XLXC}{XC \{2 (\Pi - \alpha) + \sin 2\alpha\} - \Pi XL}$$

where $X_{C} = \frac{1}{\omega C}$
 $Q_{k} = -V_{k}^{2} \{\frac{Xc2 (\Pi - \alpha) + \sin 2\alpha}{\Pi XcXL}\}$

The SVC equivalent reactance is given above equation. It is shown in Fig. 2.2 that the SVC equivalent susceptance ($B_{SVC} = -1/X_{SVC}$) profile, as function of firing angle, does not present discontinuities, i.e., B_{SVC} varies in a continuous, smooth fashion in both operative regions. Hence, linearization of the SVC power flow equations based on B_{SVC} with respect to firing angle, will exhibit a better numerical behavior than the linearized model based on X_{SVC} .

3. Simulation results and discussions

The simulation results and discussion are presented in subsections as 3.2–3.6, respectively.

3.1. General

The software is written in MATPOWER 4.0b4 computing environment and applied on a 2.63 GHz Pentium IV personal computer

IEEE-9 bus system without and with SVC (\pm 5MVAR).

Bus no.	Voltage without SVC	Voltage with SVC (-5 MVAR)	Voltage with SVC (+5 MVAR)
1	1.1	1.099	1.076
2	1.097	1.098	1.089
3	1.087	1.089	1.082
4	1.094	1.095	1.092
5	1.084	1.085	1.08
6	1.1	1.1	1.096
7	1.089	1.09	1.084
8	1.1	1.099	1.095
9	1.072	1.082	1.063



Fig. 3.1. Single line diagram of the IEEE 9 bus test system.

with 3 GB RAM. The simulation results and discussions corresponding to SVC tested on IEEE 9 and IEEE 30 bus system. Following representations are given below.

3.2. Test System 1: IEEE-9 bus system

The IEEE-9 bus test system and its data are given in Fig. 3.1 and Table 3.1, respectively.

In this test system there are 5 case studies with different size and location of SVC. Effects of SVC on Voltage profile are observed in this test system and also find out the optimal location of SVC. We use the Newton Raphson Load Flow method to calculate the bus voltage without SVC and with SVC.

3.2.1. Case study 1: IEEE-9 bus system with SVC (\pm 5 MVAR)

Fig. 3.2, it is observed that the voltage profile of the system has been improved after the placement of SVC. The overall voltage profile of the system has been improved when the SVC placed at bus no. 2, 3, 5, 7 and 9 but the improvement in voltage profile with maximum deviation is observed only at bus no. 9 (see Table 3.2).



Fig. 3.2. Without and with SVC (\pm 5 MVAR).



Fig. 3.3. Without and with SVC (\pm 15 MVAR).

Table 3.3 IEEE-9 bus system without and with SVC (\pm 15 MVAR).

-			
Bus no.	Voltage without SVC	Voltage with SVC (-15 MVAR)	Voltage with SVC (+15 MVAR)
1	1.1	1.1	1.098
2	1.097	1.099	1.09
3	1.087	1.092	1.077
4	1.094	1.098	1.089
5	1.084	1.089	1.08
6	1.1	1.1	1.09
7	1.089	1.093	1.078
8	1.1	1.1	1.099
9	1.072	1.086	1.06

3.2.2. Case study 2: IEEE-9 bus system with SVC (\pm 15 MVAR)

From Fig. 3.3, it is observed that the voltage profile of the system has been improved after the placement of SVC. The overall Voltage profile of the system has been improved when the SVC placed at bus no. 2, 3, 4, 5, 7 and 9 but the improvement in voltage profile with maximum deviation is observed only at bus no. 9 (see Table 3.3).

3.2.3. Case study 3: IEEE-9 bus system with SVC (\pm 25 MVAR)

From Fig. 3.4, it is observed that the voltage profile of the system has been improved after the placement of SVC. The overall Voltage profile of the system has been improved when the SVC placed at bus no. 2, 3, 4, 5, 7 and 9 but the improvement in voltage profile with maximum deviation is observed only at bus no. 9 (see Table 3.4).

3.2.4. Case study 4: IEEE-9 bus system with SVC (\pm 35 MVAR)

From comparison in Fig. 3.5, it is observed that the voltage profile of the system has been improved after the placement of SVC. The overall Voltage profile of the system has been improved when the SVC placed at bus no. 2, 3, 4, 5, 7 and 9 but the improvement in

IEEE-9 bus s	ystem without and wit	th SVC (\pm 25 MVAR).	
Bus no.	Voltage without SVC	Voltage with SVC (-25 MVAR)	Voltage with SVC (+25 MVAR)
1	1.1	1.093	1.09
2	1.097	1.099	1.093
3	1.087	1.091	1.084
4	1.094	1.099	1.08
5	1.084	1.09	1.08
6	1.1	1.1	1.093
7	1.089	1.094	1.078
8	1.1	1.099	1.089
9	1.072	1.089	1.052

Table 3.5

IEEE-9 bus system without and with SVC (\pm 35 MVAR).

Bus no.	Voltage without SVC	Voltage with SVC (-35 MVAR)	Voltage with SVC (+35 MVAR)
1	1.1	1.098	1.095
2	1.097	1.099	1.091
3	1.087	1.095	1.091
4	1.094	1.097	1.084
5	1.084	1.09	1.078
6	1.1	1.1	1.09
7	1.089	1.093	1.087
8	1.1	1.1	1.095
9	1.072	1.09	1.043

voltage profile with maximum deviation is observed only at bus no.9. Therefore the optimal location of SVC is at bus no. 9 (see Table 3.5).

3.2.5. Case study 5: IEEE-9 bus system with SVC (\pm 45 MVAR)

From comparison in Fig. 3.6, it is observed that the voltage profile of the system has been improved after the placement of SVC. The overall voltage profile of the system has been improved when



Fig. 3.4. Without and with SVC (± 25 MVAR).



Fig. 3.5. Without and with SVC (\pm 35 MVAR).



Fig. 3.6. Without and with SVC (\pm 45 MVAR).

Table 3.6 IEEE-9 bus system without and with SVC (\pm 45 MVAR).							
Bus no.	Voltage without SVC	Voltage with SVC (-45 MVAR)	Voltage with SVC (+45 MVAR)				
1	1.1	1.098	1.091				
2	1.097	1.099	1.087				
3	1.087	1.089	1.08				
4	1.094	1.096	1.081				
5	1.084	1.09	1.075				
6	1.1	1.1	1.085				
7	1.089	1.092	1.085				
8	1.1	1.1	1.093				
9	1.072	1.093	1.035				

the SVC placed at bus no. 2, 3, 4, 5, 7 and 9 but the improvement in voltage profile with maximum deviation is observed only at bus no. 9. Therefore the optimal location of SVC is at bus no. 9 (see Table 3.6).

3.3. Comprehensive result analysis for voltage profile

In IEEE-9 bus system the result of voltage profile has been improved after the placement of SVC. From the above mentioned



Fig. 3.7. Graphical comparisons between all the results of real power loss in IEEE-9 bus system without and with SVC (-ve MVAR).



Fig. 3.8. Graphical comparisons between all the results of reactive power loss in IEEE-9 bus system without and with SVC (-ve MVAR).

Table 3.7 Cumulative voltage profile without and with SVC (-ve MVAR).

Bus no.	V Wo SVC	V W SVC (-5 MVAR)	V W SVC (-10 MVAR)	V W SVC (-15 MVAR)	V W SVC (-20 MVAR)	V W SVC (-25 MVAR)	V W SVC (-30 MVAR)	V W SVC (-35 MVAR)	V W SVC (-40 MVAR)	V W SVC (-45 MVAR)
1	1.1	1.099	1.098	1.1	1.097	1.093	1.096	1.098	1.098	1.098
2	1.097	1.098	1.099	1.099	1.094	1.099	1.099	1.099	1.099	1.099
3	1.087	1.089	1.09	1.092	1.092	1.091	1.092	1.095	1.095	1.089
4	1.094	1.095	1.094	1.098	1.095	1.099	1.098	1.097	1.097	1.096
5	1.084	1.085	1.087	1.089	1.09	1.09	1.089	1.09	1.09	1.09
6	1.1	1.1	1.1	1.1	1.1	1.1	1.1	1.1	1.1	1.1
7	1.089	1.09	1.093	1.093	1.09	1.094	1.094	1.093	1.094	1.092
8	1.1	1.099	1.1	1.1	1.1	1.099	1.1	1.1	1.1	1.1
9	1.072	1.082	1.085	1.086	1.088	1.089	1.089	1.09	1.091	1.093

case studies the overall data of analytical studies of voltage profile without and with SVC is collected and a cumulative voltage profile presented in Table 3.7 for IEEE-9 bus system without and with SVC feeding negative and positive MVAR respectively.

From graphical comparison shown below in Fig. 3.10, it is observed that the voltage profile of the system has been improved after the placement of SVC. The overall Voltage profile of the system has been improved when the SVC placed but the improvement in voltage profile with maximum deviation is observed only at bus no. 9. Therefore the optimal location is at bus no. 9 and the optimal size is -30 MVR.

3.4. Comprehensive result analysis: Real and reactive power loss without and with SVC

From comparison in Fig. 3.7, it is observed that the real power loss of the system has been reduced after the placement of SVC. The overall real power loss of the system has been decreased with increase the size of SVC till -30 MVR after that real power loss

increases again. Therefore the optimal location is at bus no. 9 and the optimal size is -30 MVR (see Table 3.8).

From comparison in Fig. 3.8, it is observed that the reactive power loss of the system has been reduced after the placement of SVC. The overall reactive power loss of the system has been decreased with increase the size of SVC till -30 MVR after that reactive power loss increases again. Therefore the optimal location is at bus no. 9 and the optimal size is -30 MVR (see Table 3.9).

From comparison shown in Fig. 3.9, it is concluded that when the size of SVC is increasing real power loss is also increasing, in other words with the injection of SVC (+ve MVAR) real power losses increases.

From comparison shown in Fig. 3.10 it is concluded that when the size of SVC has been increased Reactive Power loss is also increased, in other words with the injection of SVC (+ve MVAR) Reactive Power losses increases.

3.5. Comprehensive result analysis: Cost profile with and without SVC

In IEEE-9 bus system the result of voltage profile has been improved after the placement of SVC. From the above mentioned

Cumulative real and reactive power loss of without and with SVC (-ve MVAR).

Power loss	Loss Wo SVC	Loss with SVC (-5 MVAR)	Loss with SVC (-10 MVAR)	Loss with SVC (-15 MVAR)	Loss with SVC (-20 MVAR)	Loss with SVC (-25 MVAR)	Loss with SVC (-30 MVAR)	Loss with SVC (-35 MVAR)	Loss with SVC (-40 MVAR)	Loss with SVC (-45 MVAR)
Real loss (MW)	3.307	3.286	3.27	3.258	3.249	3.244	3.242	3.244	3.25	3.259
Reactive loss (MVAR)	36.46	36.32	36.2	36.12	36.1	36.09	36.07	36.19	36.33	36.57

Table 3.9

Cumulative real and reactive power loss of without and with SVC (+ve MVAR).

Power loss	Loss Wo SVC	Loss with SVC (+5 MVAR)	Loss with SVC (+10 MVAR)	Loss with SVC (+15 MVAR)	Loss with SVC (+20 MVAR)	Loss with SVC (+25 MVAR)	Loss with SVC (+30 MVAR)	Loss with SVC (+35 MVAR)	Loss with SVC (+40 MVAR)	Loss with SVC (+45 MVAR)
Real loss (MW)	3.307	3.332	3.363	3.402	3.446	3.495	3.55	3.611	3.678	3.751
Reactive loss	36.46	36.64	36.86	37.15	37.5	37.89	38.33	38.82	39.37	39.97
(MVAR)										



Fig. 3.9. Graphical comparisons between all the results of real power loss in IEEE-9 bus system without and with SVC (+ve MVAR).

Reactive Loss in 41 MVAR, 39.97 40 39 Loss in MVAR 38 37 36 35 34 Loss With Loss Loss With Without SVC (+5 SVC (+10 SVC (+15 SVC (+20 SVC (+25 SVC (+30 SVC (+35 SVC (+40 SVC (+45 SVC MVAR) MVAR) MVAR) MVAR) MVAR) MVAR) MVAR) MVAR) MVAR)

Reactive Loss in MVAR

Fig. 3.10. Graphical comparisons between all the results of reactive power loss in IEEE-9 bus system without and with SVC (+ve MVAR).

case studies the overall data of analytical studies of cost profile without and with SVC is collected and a cumulative cost profile presented in Table 3.10 for IEEE-9 bus system without and with SVC feeding negative and positive MVAR respectively.

From comparison shown in Fig. 3.11, it is concluded that when the size of SVC (-ve MVAR) is increasing Real cost for IEEE-9 bus system is decreasing till its optimal location i.e. -30 MVAR after that Real cost increases again.

From comparison shown in Fig. 3.12, it is concluded that when the size of SVC (-ve MVAR) is increasing Reactive cost for IEEE-9 bus system is decreasing continuously.

3.6. Test system 2: IEEE-30 bus system

The IEEE-30 bus test system and its data are given in Fig. 3.13 and Table 3.11, respectively.

In this test system there are 5 case studies with different size and location of SVC. Effects of SVC on Voltage profile are observed in this test system and also find out the optimal location of SVC.

3.6.1. Case study 1: IEEE-30 bus system with SVC (\pm 5 MVAR)

From comparison in Fig. 3.14, it is observed that the voltage profile of the system has been improved after the placement of

Cost of IEEE-9 bus system without and with SVC (-ve MVAR). Cost with Cost Cost Wo Cost with SVC (-40 SVC SVC (-5 SVC (-10 SVC (-15 SVC (-20 SVC (-25 SVC (-30 SVC (-35 SVC (-45 MVAR) MVAR) MVAR) MVAR) MVAR) MVAR) MVAR) MVAR) MVAR) Real power 219.985 219.965 219.955 219.944 219.935 219.931 219.923 219.926 219.929 219.932 cost Reactive 0 179 0.15 0.13 0.112 0.094 0.078 0.062 0.044 0.027 0.012 power cost



Fig. 3.11. Real cost profile for IEEE-9 bus system without and with SVC (-ve MVAR).



Total reactive power cost

Fig. 3.12. Reactive cost profile for IEEE-9 bus system without and with SVC (-ve MVAR).

SVC. The overall Voltage profile of the system has been improved when the SVC placed but the improvement in voltage profile with maximum deviation is observed at bus no. 8. Therefore the optimal location of SVC is at bus no. 8 (see Table 3.12).

3.6.2. Case study 2: IEEE-30 bus system with SVC (\pm 15 MVAR)

From comparison in Fig. 3.15, it is observed that the voltage profile of the system has been improved after the placement of SVC. The overall Voltage profile of the system has been improved when the SVC placed but the improvement in voltage profile with maximum deviation is observed at bus no. 8 (see Table 3.13).

3.6.3. Case study 3: IEEE-30 bus system with SVC (\pm 25 MVAR)

From comparison in Fig. 3.16, it is observed that the voltage profile of the system has been improved after the placement of SVC. The overall Voltage profile of the system has been improved when the SVC placed but the improvement in voltage profile with maximum deviation is observed at bus no. 8 (see Table 3.14).

3.6.4. Case study 4: IEEE-30 bus system with SVC (\pm 35 MVAR)

From comparison in Fig. 3.17, it is observed that the voltage profile of the system has been improved after the placement of SVC. The overall Voltage profile of the system has been improved when the SVC placed but the improvement in voltage profile with maximum deviation is observed at bus no. 8 (see Table 3.15).

3.6.5. Case study 5: IEEE-30 bus system with SVC (\pm 45 MVAR)

From comparison in Fig. 3.18, it is observed that the voltage profile of the system has been improved after the placement of SVC and maximum deviation is observed at bus no. 8 (see Table 3.16).

3.7. Comprehensive result analysis: Voltage profile of IEEE-30 bus system

In IEEE-30 bus system the result of voltage profile has been improved after the placement of SVC. From the above mentioned case studies the overall data of analytical studies of voltage profile

Table 3.10



Fig. 3.13. Single line diagram of the IEEE 30 bus test system.



Fig. 3.14. Without and with SVC (\pm 5 MVAR).



Fig. 3.15. Without and with SVC (\pm 15 MVAR).



Fig. 3.16. Without and with SVC (± 25 MVAR).



Fig. 3.17. Without and with SVC (\pm 35 MVAR).



Effect of SVC (±45 MVAR) on voltage profile

Fig. 3.18. Without and with SVC (\pm 45 MVAR).

 Table 3.11

 Parameters of IEEE 30 bus system

Line No	Bus		Impedance		Shunt susceptance
	From	То	Resistance	Reactance	
1	1	2	0.0200	0.0600	0.0300
2	1	3	0.0500	0.1900	0.0200
3	2	4	0.0600	0.1700	0.0200
4	3	4	0.0100	0.0400	0
5	2	5	0.0500	0.2000	0.0200
6	2	6	0.0600	0.1800	0.0200
7	4	6	0.0100	0.0400	0
8	5	7	0.0500	0.1200	0.0100
9	6	7	0.0300	0.0800	0.0100
10	6	8	0.0100	0.0400	0
11	6	9	0	0.2100	0
12	6	10	0	0.5600	0
13	9	11	0	0.2100	0
14	9	10	0	0.1100	0
15	4	12	0	0.2600	0
16	4	13	0	0.1400	0
17	12	14	0.1200	0.2600	0
18	12	15	0.0700	0.1300	0
19	12	16	0.0900	0.2000	0
20	14	15	0.2200	0.2000	0
21	16	17	0.0800	0.1900	0
22	15	18	0.1100	0.2200	0
23	18	19	0.6000	0.1300	0
24	19	20	0.0300	0.7000	0
25	10	20	0.0900	0.2100	0
26	10	17	0.0300	0.0800	0
27	10	21	0.0300	0.0700	0
28	10	22	0.7000	0.1500	0
29	21	22	0.0100	0.0200	0
30	15	23	0.0100	0.2000	0
31	22	24	0.1200	0.1800	0
32	23	24	0.1300	0.2700	0
33	24	25	0.1900	0.3300	0
34	25	26	0.2500	0.3800	0
35	25	27	0.1100	0.2100	0
36	28	27	0	0.4000	0
37	27	29	0.2200	0.4200	0
38	27	30	0.3200	0.6000	0
39	29	30	0.2400	0.4500	0
40	8	28	0.0600	0.2000	0.0200
41	9	28	0.0200	0.0600	0.0100

without and with SVC is collected and a cumulative voltage profile presented in Tables 3.17 and 3.18 for IEEE-30 bus system without and with SVC feeding negative.

3.8. Comprehensive result analysis: Real and reactive power loss without and with SVC

The comprehensive result analysis of real and reactive power loss profile in IEEE-30 bus system are given below in Table 3.19. This table shows the real and reactive power loss profile of the buses with and without SVC. The overall real and reactive power loss profile of 30 bus system is minimized when SVC are placed at optimal location.

From comparison in Figs. 3.19 and 3.20, it is observed that the reactive power loss of the system has been reduced after the placement of SVC. The overall reactive power loss of the system has been decreased with increase the size of SVC till -35 MVAR after that reactive power loss increases again. Therefore the optimal location is at bus no. 8 and the optimal size is -35 MVAR (see Table 3.20).

From comparison shown in Fig. 3.21, it is concluded that when the size of SVC is increasing real power loss is also increasing, in other words with the injection of SVC (+ve MVAR) real power losses increases.

Bus no.	Voltage without SVC	Voltage with SVC (-5 MVAR)	Voltage with SVC (+5 MVAR)
1	1	1.001	0.998
2	0.949	0.979	0.945
3	0.947	0.975	0.943
4	0.956	0.971	0.947
5	0.937	0.963	0.933
6	0.932	0.967	0.929
7	0.914	0.953	0.92
8	0.905	0.971	0.914
9	0.929	0.975	0.924
10	0.939	0.973	0.935
11	0.947	0.982	0.944
12	0.955	0.984	0.949
13	0.951	0.975	0.949
14	0.947	0.978	0.939
15	0.946	0.983	0.941
16	0.943	0.977	0.94
17	0.95	0.981	0.948
18	0.953	0.978	0.947
19	0.967	0.982	0.959
20	0.965	0.985	0.957
21	0.961	0.979	0.959
22	0.961	0.986	0.956
23	0.957	0.983	0.948
24	0.951	0.98	0.946
25	0.952	0.983	0.953
26	0.946	0.979	0.942
27	0.942	0.981	0.938
28	0.942	0.976	0.937
29	0.935	0.967	0.932

0.98

0.939

Table 3	3.13
---------	------

30

IEEE-30 bus system without and with SVC (\pm 15 MVAR).

0.941

IEEE-30 bus system without and with SVC (\pm 5MVAR).

Bus no.	Voltage without SVC	Voltage with SVC (-15 MVAR)	Voltage with SVC (+15 MVAR)
1	1	1.002	0.998
2	0.949	0.999	0.935
3	0.947	1.005	0.942
4	0.956	1.007	0.94
5	0.937	0.993	0.933
6	0.932	0.998	0.925
7	0.914	0.981	0.92
8	0.905	1.01	0.911
9	0.929	0.997	0.92
10	0.939	0.998	0.931
11	0.947	1	0.94
12	0.955	1.002	0.943
13	0.951	1.005	0.945
14	0.947	0.995	0.935
15	0.946	0.998	0.936
16	0.943	0.997	0.937
17	0.95	1.003	0.942
18	0.953	0.997	0.943
19	0.967	1.002	0.951
20	0.965	1.005	0.952
21	0.961	1.006	0.949
22	0.961	1.006	0.948
23	0.957	1.003	0.948
24	0.951	0.997	0.946
25	0.952	0.996	0.947
26	0.946	1.001	0.939
27	0.942	1.002	0.934
28	0.942	0.996	0.935
29	0.935	0.996	0.93
30	0.941	0.999	0.936

3.9. Comprehensive result analysis: Cost profile with and without SVC

In IEEE-30 bus system the result of voltage profile has been improved after the placement of SVC. The overall data for cost



Fig. 3.19. Comparisons between all the results of real power loss in IEEE-30 bus system without and with SVC (-ve MVAR).



Fig. 3.20. Comparisons between all the results of reactive power loss in IEEE-30 bus system without and with SVC (-ve MVAR).



Fig. 3.21. Comparisons between all the results of Real Power loss in IEEE-30 bus system without and with SVC (+ve MVAR).

without and with SVC is collected and a cumulative voltage profile presented in Table 3.21 for IEEE-30 bus system without and with SVC feeding negative and positive MVAR respectively.

From Comparisons shown in Figs. 3.22 and 3.23 it is concluded that when the size of SVC (-ve MVAR) is increasing real and reactive cost for IEEE-30 bus system is decreasing continuously till the size of -35 MVAR i.e. the optimal size, after that the cost further increases.

4. Conclusions and futurescope of research work

The conclusions and future scope of research work are addressed in Sections 4.1–4.2, respectively.

4.1. Conclusions

The following conclusions made from this research work are as follows:

Table 3.14	
IEEE-30 bus system without and with SVC $(+25 \text{ MVAR})$	

LLL JO DUS	system without and w	$(\pm 25 \text{ WWM}).$		ILLL J
Bus no.	Voltage without SVC	Voltage with SVC (-25 MVAR)	Voltage with SVC (+25 MVAR)	Bus r
1	1	1.002	0.997	1
2	0.949	1.012	0.931	2
3	0.947	1.011	0.939	3
4	0.956	1.018	0.94	4
5	0.937	1.006	0.931	5
6	0.932	1.009	0.928	6
7	0.914	0.998	0.921	7
8	0.905	1.019	0.913	8
9	0.929	1.009	0.923	9
10	0.939	1.008	0.933	10
11	0.947	1	0.938	11
12	0.955	1.004	0.945	12
13	0.951	1.008	0.944	13
14	0.947	0.999	0.936	14
15	0.946	1.007	0.938	15
16	0.943	1.003	0.934	16
17	0.95	1.01	0.945	17
18	0.953	0.997	0.939	18
19	0.967	1.009	0.945	19
20	0.965	1.009	0.949	20
21	0.961	1.012	0.947	21
22	0.961	1.011	0.947	22
23	0.957	1.006	0.944	23
24	0.951	0.999	0.942	24
25	0.952	1.001	0.941	25
26	0.946	1.006	0.936	26
27	0.942	1.008	0.936	27
28	0.942	1.002	0.937	28
29	0.935	0.998	0.932	29
30	0.941	1.006	0.933	30

Table 3.15

IEEE-30 bus system without and with SVC (\pm 35 MVAR).

Bus no.	Voltage without SVC	Voltage with SVC (-35 MVAR)	Voltage with SVC (+35 MVAR)
1	1	1.002	0.997
2	0.949	1.021	0.929
3	0.947	1.027	0.932
4	0.956	1.03	0.933
5	0.937	1.022	0.931
6	0.932	1.029	0.923
7	0.914	1.018	0.91
8	0.905	1.041	0.902
9	0.929	1.023	0.919
10	0.939	1.025	0.926
11	0.947	1.013	0.932
12	0.955	1.019	0.938
13	0.951	1.026	0.937
14	0.947	1.013	0.929
15	0.946	1.021	0.934
16	0.943	1.017	0.931
17	0.95	1.026	0.938
18	0.953	1.02	0.936
19	0.967	1.019	0.941
20	0.965	1.018	0.943
21	0.961	1.025	0.942
22	0.961	1.023	0.94
23	0.957	1.027	0.938
24	0.951	1.018	0.936
25	0.952	1.021	0.938
26	0.946	1.028	0.935
27	0.942	1.019	0.931
28	0.942	1.02	0.93
29	0.935	1.018	0.929
30	0.941	1.021	0.933

• Voltage profile of the IEEE-9 bus system has been improved from 1.072 to 1.093 after incorporation of SVC at bus no. 9.

Bus no.	Voltage without	Voltage with	Voltage with
	SVC	SVC (-45 IVIVAR)	SVC (+45 IVIVAR)
1	1	1.002	0.997
2	0.949	1.031	0.921
3	0.947	1.038	0.928
4	0.956	1.039	0.927
5	0.937	1.036	0.925
6	0.932	1.04	0.919
7	0.914	1.032	0.912
8	0.905	1.051	0.902
9	0.929	1.039	0.915
10	0.939	1.042	0.918
11	0.947	1.035	0.926
12	0.955	1.037	0.929
13	0.951	1.04	0.932
14	0.947	1.036	0.923
15	0.946	1.041	0.927
16	0.943	1.032	0.921
17	0.95	1.042	0.928
18	0.953	1.039	0.93
19	0.967	1.035	0.93
20	0.965	1.039	0.931
21	0.961	1.045	0.932
22	0.961	1.042	0.927
23	0.957	1.043	0.926
24	0.951	1.033	0.931
25	0.952	1.037	0.932
26	0.946	1.043	0.925
27	0.942	1.031	0.927
28	0.942	1.039	0.921
29	0.935	1.043	0.918
30	0.941	1.04	0.921

- Voltage profile of the IEEE-30 bus system has been improved from 0.905 to 1.048 after incorporation of SVC at bus no. 8.
- In 9 bus system the optimal located bus no. is 9 and optimal size of the SVC is 30 (-ve MVAR).
- In 30 bus system the optimal located bus no. is 8 and optimal size of the SVC is 35 (-ve MVAR).
- Inject active and reactive power flow in power system network
- Real power loss and reactive power loss are minimized.
- Real and reactive power flow control capability.
- Power system performance will improve when we add the SVC.

4.2. Future scope of work

The following future scopes of this work are as follows:

- In future, with insertion of two or more FACTS controller can be used in coordinated manner to enhance voltage profile.
- In future, other member of FACTS controllers such as UPFC, HPFC etc. is also used improving voltage profile and minimizing the real and reactive power losses.
- In future, the Artificial Intelligence techniques are used for verification of OPF results and for better enhancement of voltage profile
- In future, the Hybrid Artificial Intelligence techniques are used for verification of OPF results and for better enhancement of voltage profile
- In future, other power system performances may be improved such as system power factor, power quality parameters (voltage sag and swell *etc.*) by optimally placed FACTS controllers with DGs.









Table 3.17

Cumulative	e voltage profile	of IEEE-30 bus	s system without	t and with SVC (-ve MVAR).					
Bus no.	Voltage without SVC	Voltage with SVC (-5 MVAR)	Voltage with SVC (-10 MVAR)	Voltage with SVC (-15 MVAR)	Voltage with SVC (-20 MVAR)	Voltage with SVC (-25 MVAR)	Voltage with SVC –30 MVAR	Voltage with SVC (-35) MVAR	Voltage with SVC (-40 MVAR)	Voltage with SVC (-45 MVAR)
1	1	1.001	1.001	1.002	1.002	1.002	1.002	1.002	1.002	1.002
2	0.949	0.979	0.991	0.999	1.009	1.012	1.015	1.021	1.027	1.031
3	0.947	0.975	0.995	1.005	1.01	1.011	1.017	1.027	1.031	1.038
4	0.956	0.971	0.997	1.007	1.015	1.018	1.023	1.03	1.035	1.039
5	0.937	0.963	0.983	0.993	1.003	1.006	1.016	1.022	1.03	1.036
6	0.932	0.967	0.986	0.998	1.007	1.009	1.018	1.029	1.035	1.04
7	0.914	0.953	0.965	0.981	0.996	0.998	1.008	1.018	1.024	1.032
8	0.905	0.971	0.991	1.01	1.013	1.019	1.031	1.041	1.047	1.051
9	0.929	0.975	0.987	0.997	1.006	1.009	1.019	1.023	1.028	1.039
10	0.939	0.973	0.993	0.998	1.005	1.008	1.017	1.025	1.039	1.042
11	0.947	0.982	0.992	1	1.002	1	1.003	1.013	1.027	1.035
12	0.955	0.984	0.994	1.002	1.005	1.004	1.014	1.019	1.029	1.037
13	0.951	0.975	0.995	1.005	1.008	1.008	1.016	1.026	1.032	1.04
14	0.947	0.978	0.987	0.995	0.999	0.999	1.004	1.013	1.023	1.036
15	0.946	0.983	0.993	0.998	1.001	1.007	1.011	1.021	1.033	1.041
16	0.943	0.977	0.987	0.997	1.006	1.003	1.009	1.017	1.026	1.032
17	0.95	0.981	0.993	1.003	1.009	1.01	1.019	1.026	1.036	1.042
18	0.953	0.978	0.988	0.997	0.999	0.997	1.007	1.02	1.03	1.039
19	0.967	0.982	0.992	1.002	1.008	1.009	1.012	1.019	1.028	1.035
20	0.965	0.985	0.995	1.005	1.004	1.009	1.011	1.018	1.029	1.039
21	0.961	0.979	0.99	1.006	1.009	1.012	1.015	1.025	1.038	1.045
22	0.961	0.986	0.996	1.006	1.009	1.011	1.013	1.023	1.035	1.042
23	0.957	0.983	0.993	1.003	1.003	1.006	1.016	1.027	1.04	1.043
24	0.951	0.98	0.989	0.997	0.998	0.999	1.008	1.018	1.026	1.033
25	0.952	0.983	0.989	0.996	0.999	1.001	1.007	1.021	1.029	1.037
26	0.946	0.979	0.991	1.001	1.007	1.006	1.015	1.028	1.037	1.043
27	0.942	0.981	0.988	1.002	1.008	1.008	1.01	1.019	1.021	1.031
28	0.942	0.976	0.986	0.996	0.999	1.002	1.002	1.02	1.029	1.039
29	0.935	0.967	0.987	0.996	0.997	0.998	1	1.018	1.035	1.043
30	0.941	0.98	0.992	0.999	1.002	1.006	1.009	1.021	1.03	1.04

Table	e 3.18			
-		~	a a	

Bus no.	Voltage without SVC	Voltage with SVC								
		(+5 MVAR)	(+10 MVAR)	(+15 MVAR)	(+20 MVAR)	(+25 MVAR)	(+30 MVAR)	(+35 MVAR)	(+40 MVAR)	(+45 MVAR)
1	1	0.998	0.998	0.998	0.998	0.997	0.997	0.997	0.997	0.997
2	0.949	0.945	0.939	0.935	0.934	0.931	0.931	0.929	0.925	0.921
3	0.947	0.943	0.944	0.942	0.94	0.939	0.937	0.932	0.93	0.928
4	0.956	0.947	0.942	0.94	0.941	0.94	0.939	0.933	0.931	0.927
5	0.937	0.933	0.935	0.933	0.932	0.931	0.936	0.931	0.928	0.925
6	0.932	0.929	0.927	0.925	0.922	0.928	0.925	0.923	0.921	0.919
7	0.914	0.92	0.92	0.92	0.92	0.921	0.92	0.91	0.91	0.912
8	0.905	0.914	0.911	0.911	0.914	0.913	0.912	0.902	0.901	0.902
9	0.929	0.924	0.922	0.92	0.925	0.923	0.921	0.919	0.918	0.915
10	0.939	0.935	0.93	0.931	0.936	0.933	0.931	0.926	0.92	0.918
11	0.947	0.944	0.941	0.94	0.939	0.938	0.936	0.932	0.927	0.926
12	0.955	0.949	0.945	0.943	0.948	0.945	0.942	0.938	0.931	0.929
13	0.951	0.949	0.946	0.945	0.944	0.944	0.941	0.937	0.932	0.932
14	0.947	0.939	0.934	0.935	0.938	0.936	0.934	0.929	0.924	0.923
15	0.946	0.941	0.938	0.936	0.939	0.938	0.937	0.934	0.928	0.927
16	0.943	0.94	0.94	0.937	0.936	0.934	0.934	0.931	0.926	0.921
17	0.95	0.948	0.946	0.942	0.939	0.945	0.94	0.938	0.931	0.928
18	0.953	0.947	0.946	0.943	0.942	0.939	0.942	0.936	0.932	0.93
19	0.967	0.959	0.954	0.951	0.949	0.945	0.944	0.941	0.937	0.93
20	0.965	0.957	0.953	0.952	0.951	0.949	0.947	0.943	0.936	0.931
21	0.961	0.959	0.955	0.949	0.948	0.947	0.945	0.942	0.935	0.932
22	0.961	0.956	0.953	0.948	0.947	0.947	0.944	0.94	0.934	0.927
23	0.957	0.948	0.948	0.948	0.947	0.944	0.942	0.938	0.931	0.926
24	0.951	0.946	0.947	0.946	0.945	0.942	0.94	0.936	0.937	0.931
25	0.952	0.953	0.951	0.947	0.944	0.941	0.941	0.938	0.932	0.932
26	0.946	0.942	0.941	0.939	0.938	0.936	0.935	0.935	0.931	0.925
27	0.942	0.938	0.935	0.934	0.939	0.936	0.933	0.931	0.93	0.927
28	0.942	0.937	0.934	0.935	0.938	0.937	0.934	0.93	0.927	0.921
29	0.935	0.932	0.933	0.93	0.933	0.932	0.93	0.929	0.922	0.918
30	0.941	0.939	0.938	0.936	0.935	0.933	0.935	0.933	0.929	0.921

Cumulative real and reactive power loss of IEEE-30 bus system without and with SVC (-ve MVAR).

Power loss	Loss without SVC	Loss with SVC (-5 MVAR)	Loss with SVC (-10 MVAR)	Loss with SVC (-15 MVAR)	Loss with SVC (-20 MVAR)	Loss with SVC (-25 MVAR)	Loss with SVC (-30 MVAR)	Loss with SVC (-35 MVAR)	Loss with SVC (-40 MVAR)	Loss with SVC (-45 MVAR)
Real power loss (MW)	2.86	2.598	2.479	2.373	2.254	2.192	2.104	2.048	2.127	2.214
Reactive power loss (MVAR)	13.33	12.8	12.55	12.34	12.16	12.02	11.86	11.75	11.9	12.1

Table 3.20

Cumulative real and reactive power loss of IEEE-30 bus system without and with SVC (+ve MVAR).

Power loss	Loss without SVC	Loss with SVC (+5 MVAR)	Loss with SVC (+10 MVAR)	Loss with SVC (+15 MVAR)	Loss with SVC (+20 MVAR)	Loss with SVC (+25 MVAR)	Loss with SVC (+30 MVAR)	Loss with SVC (+35 MVAR)	Loss with SVC (+40 MVAR)	Loss with SVC (+45 MVAR)
Real power loss (MW)	2.86	2.984	3.173	3.313	3.612	3.756	3.966	4.23	4.364	4.574
Reactive power loss (MVAR)	13.33	13.96	14.46	14.95	15.23	15.72	15.98	16.12	16.45	16.83

Table 3.21

Cost of IEEE-30 bus system without and with SVC (-ve MVAR).

Cost	Cost without SVC	Cost with SVC (-5 MVAR)	Cost with SVC (-10 MVAR)	Cost with SVC (-15 MVAR)	Cost with SVC (-20 MVAR)	Cost with SVC (-25 MVAR)	Cost with SVC (-30 MVAR)	Cost with SVC (-35 MVAR)	Cost with SVC (-40 MVAR)	Cost with SVC (-45 MVAR
Real	117.241	116.889	116.725	116.613	116.486	116.391	116.351	116.285	116.354	116.427
Reactive cost	2.016	1.628	1.399	1.271	1.191	1.103	1.028	0.968	1.043	1.223

References

Athamneh, A.A., Lee, Wei-Jen, 2006. Benefits of FACTS devices for power exchange among Jordanian interconnection with other countries. In: Power Engineering Society General Meeting. IEEE.

Acha, Enrique, Kazemtabrizi, Behzad, 2013. A New STATCOM Model for power flows using the Newton-Raphson method. IEEE Trans. Power Syst. 28 (3), 2455-2465. Dixon, J., Moran, L., Rodriguez, J., Domke, R., 2005. Reactive power compensation technologies: State-of-the-art review. Proc. IEEE 93 (12), 2144-2164.

- Gabbar, Hossam A., Abdelsalam, Abdelazeem A., 2014. Micro-grid energy management in grid-connected and islanding modes based on SVC. Energy Convers. Manage. 86, 964–972.
- Gerbex, S., Cherkaoui, R., Germond, A.J., 2001. Optimal location of multi types FACTs devices in power system by means of genetic algorithms. IEEE Trans. Power Syst. 16 (3), 537–544.
- Ghorbani, Amir, Khederzadeh, Mojtaba, Mozafari, Babak, 2012. Impact of SVC on the protection of transmission lines. Int. J. Electr. Power Energy Syst. 42 (1), 334–340.
- Grudinin, N., Roytelman, I., 1997. Heading off emergencies in large electric grids. IEEE Spectr. 34 (4), 43–47.
- Grünbaum, R., Petersson, Å., Thorvaldsson, B., 2003. FACTS, improving the performance of electrical grids. ABB Rev. 11–18.
- Hingorani, N.G., Gyugyi, L., 2000. Understanding FACTS: Concepts and Technology of Flexible AC Transmission Systems. IEEE Press, New York.
- Huang, G.M., Yan, Ping, 2002. The impacts of TCSC and SVC on power system load curtailments. In: Power Engineering Society Summer Meeting-2001, Available IEEE Xplore06.
- Jannati, M., Vahidi, B., Hosseinian, S.H., Rastegar, H., 2008. Improvement of voltage stability and reduce power system losses by optimal GA-based allocation of multi-type FACTS devices. Optim. Elect. Electron. Equip. OPTIM 2008. 11th International Conference.
- Kamarposhti, Mehrdad Ahmadi, Alinezhad, Mostafa, 2009. Comparison of SVC and STATCOM in static voltage stability margin enhancement. Int. J. Electr. Comput. Energ. Electr. Commun. Eng. 3 (2).
- Khanmohammadi, S., Tarafdar Hagh, M., Abapour, M., 2007. Fuzzy logic based SVC for reactive power compensation and power factor correction. In: Power Engineering Conference, 2007 IPEC 2007 International. IEEE, pp. 1241–1246.
- Kundur, P., 1994. Power System Stability and Control. McGraw-Hill.
- Mahdad, B., Bouktir, T., Srairi, K., 2006. Strategy of location and control of FACTS devices for enhancing power quality. In: Electrotechnical Conference. In: 2006 MELECON, IEEE Mediterranean.
- Mark Ndubuka, NWOHU, Voltage Stability Improvement using Static VAR Compensator in Power System, Leonardo Journal of Sciences, 2009 (14) 167–172.
- Minguez, Roberto, Milano, Federico, Zarate-Minano, Rafael, Conejo, Antonio J., 2007. Optimal network placement of SVC devicessign in or purchase. IEEE Trans. Power Syst. 22 (4), 1851–1860.
- Mithulananthan, N., Canizares, C.A., Reeve, J., Rogers, G.J., 2003. Comparison of PSS, SVC and STATCOM controllers for damping power system oscillations. IEEE Trans. Power Syst. 8 (2), 786–792.
- Mondal, D., Chakrabarti, A., Sengupta, A., 2012. Optimal placement and parameter setting of SVC and TCSC using PSO to mitigate small signal stability problem. Int. J. Electr. Power Energy Syst. 42 (1), 334–340.
- Musunuri, Shravana, Dehnavi, Gholamreza, 2010. Comparison of STATCOM, SVC, TCSC, and SSSC performance in steady state voltage stability improvement. In: North American Power Symposium (NAPS).
- Ou, Yan, Singh, Chandan, 2002. Improvement of total transfer capability using TCSC and SVC. In: Power Engineering Society Summer Meeting-2001, Available IEEE Xplore06.
- Palukuru, Nagendra, Nee Dey, Sunita Halder, Datta, Tanaya, Paul, Subrata, 2014. Voltage stability assessment of a power system incorporating FACTS controllers using unique network equivalent. Ain Shams Eng. J. 5 (1), 103–111.
- Singh, Bindeswer, Mukherjee, V., Tiwari, Prabhakar, 2015. A survey on impact assessment of DG and FACTS controllers in power systems. Renewable Sustainable Energy Rev. 42, 846–882.
- Singh, J.G., Singh, S.N., Srivastava, S.C., 2006. Placement of FACTS controllers for enhancing power system loadability. In: Power India Conference. IEEE.
- Singh, Bindeshwar, Verma, K.S., Singh, Deependra, singh, C.N., Singh, Archna, Agrawal, Ekta, Dixit, Rahul, Tyagi, Baljiv, 2011. Introduction to facts controllers a critical review. Int. J. Rev. Comput. 8, 34–55.

- Srivastava, S.K., 2012. Enhancement in voltage stability and reactive power compensation using D-STATCOM. Int. J. Eng. Res. Technol. (IJERT) 1 (7).
- Stahlkopf, K.E., Wilhelm, M.R., 1997. Tighter controls for busier systems. IEEE Spectr. 34 (4), 48–52.
- Taylor, C.W., 1994. Power System Voltage Stability. McGraw-Hill, New York, IEEE Special Publication 90TH0358-2-PWR, Voltage Stability of Power Systems: Concepts, Analytical Tools..
- Taylor, Carson W., Erickson, Dennis C., Martin, Kenneth E., Wilson, Robert E., Venkatasubramanian, Vaithianathan, 2005. WACS-wide-area stability and voltage control system: R&D and online demonstration. Proc. IEEE 93 (5), 892–906.
- Venkateswara Rao, B., Nagesh Kumar, G.V., Ramya Priya, M., Sobhan, P.V.S., 2009. Implementation of static VAR compensator for improvement of power system stability. In: Advances in Computing, Control, & Telecommunication Technologies, 2009. ACT'09 International Conference on. IEEE, pp. 453–457.



Bindeshwar Singh was born in Deoria, U.P., India, in 1975. He received the B.E. degree in electrical engineering from the Deen Dayal Updhyay University of Gorakhpur, (Madan Mohan Malviya Engineering College, Gorakhpur, Gorakhpur, U.P., India, in 1999, and M. Tech. in electrical engineering (Power Systems) from the Indian Institute of Technology (IITR), Roorkee, Uttaranchal, India, in 2001. He received the Ph. D. degree in electrical engineering (power system) from the Indian Institute of Technology (Indian School of Mines), Dhanbad, Jharkhand, India, in 2017. In 2001, he joined the Department of Electrical Engineering,

Madan Mohan Malviya Engineering College, Gorakhpur, as an Adoc. Lecturer. In 2002, he joined the Department of Electrical Engineering, Dr. Kedar Nath Modi Institute of Engineering & Technology, Modinagar, Ghaziabad, U.P., India, as a Sr. Lecturer and subsequently became an Asst. Prof. & Head in 2003. In 2007, he joined the Department of Electrical & Electronics Engineering, Krishna Engineering College, Ghaziabad, U.P., India, as an Asst. Prof. and subsequently became an Associate Professor in 2008. Presently, he is an Assistant Professor with Department of Electrical Engineering, Kamla Nehru Institute of Technology, Sultanpur-228118, U.P., India, where he has been since August 2009. His research interests are in Placement and Coordination of FACTS controllers in multi-machine power systems, Power system Engg., Impact of Distributed Generations and FACTS controllers, and Applications of AI techniques to Power Systems.

Email: bindeshwar.singh2025@gmail.com Mobile: 09473795769/08004719712



Garima Agrawal was born in Allahabad, UP, India, in 1987. She received the B.Tech. Degree in electrical and Electronics engineering from the BBS College of Engineering & Technology, Allahabad, U.P., India, in 2011. She is currently pursuing the M.Tech. degree in electrical engineering (Power Systems) from the Kamla Nehru Institute of Technology (an Autonomous Government Engineering Institute) Sultanpur UP, India. She joined the Department of Electrical Engineering, Madhu Vachaspati Institute of Engineering and Technology (affiliated to AKTU, Lucknow) Kaushambi, UP. India. as a Lecturer in 2011. Her research

interests are in Power system Engg, assessment of FACTS controllers and Distributed Generations.

Email: garimagrawal15@gmail.com Mobile: 9793182211